
ECHNICAL INFORMATION

For Models
Country
Description

T 93048
September 2011

(Page 1 of 2)Change of Hex. flange head bolts M10x20 and M8x12, Box wrench 13,
Guard, and Lower fence L
Elimination of Leaf spring and CT4x16 Tapping screw

LS1016, LS1016F, LS1016FL, LS1016L, LS1216, LS1216F, LS1216FL, LS1216L 

See next page.

Change of Blade fixing bolt Change of Center cover fixing bolt

The following changes have been implemented to comply with EU standards. 

Subject

267

264

31 40 31 40

3

7 8

9

1 2

4

5

6

3

Hex. flange head bolt M10x20
(265405-3)

Hex. socket head bolt M10x20
(266755-9)

Hex. flange head bolt M8x12
(265324-3)

Hex. socket hex. bolt M8x20
(266283-4)

3 Box wrench 13 (782232-8) has been 
replaced with Hex. wrench 6 (783204-6).

Leaf spring (232075-3) has been 
eliminated.

CT4x16 Tapping screw (782232-8)
has been eliminated.

Wrench holder 5.6
(410047-0)

has been added.

(451006-5) (453634-2) (451198-0) (453635-0)

(318475-2)

(318863-3)

Hex. wrench 6 (783204-6)

Change in shape of Guard

Change in size of
Lower fence L

Change in shape of Guard



93048
(Page 2 of 2)

LS1016: Argentina, Austria, Bhutan, China, Cyprus, France, Germany, Iran, Italy, Kuwait, Nether-
               lands, New Caledonia, Reunion, Russia, Saudi Arabia, Spain, Sweden, Tahiti, Turkey, UK
LS1016L: Argentina, Austria, Germany, Netherlands, Poland, Russia, South Africa, Spain, Sweden,
                 Switzerland, Turkey, UK 
LS1016F:  France, Germany, Italy, Netherlands, Reunion, Spain
LS1016FL: France, Italy, Netherlands, Reunion, Spain
LS1216: Argentina, Austria, Bhutan, China, Commonwealth of Dominica, Cyprus, France, Iran, 
               Italy, Kuwait, Netherlands, New Caledonia, Poland, Reunion, Russia, Saudi Arabia, Spain,
               Sweden, Turkey, UK
LS1216L: Argentina, Austria, Bhutan, Cyprus, Germany, Netherlands, New Caledonia, Poland, 
                 Saudi Arabia, South Africa, Spain, Sweden, Switzerland, Turkey, UK
LS1216F: France, Germany, Italy, Netherlands, Reunion, Spain
LS1216FL: France, Spain 

LS1216: Argentina, Austria, Bhutan, China, Commonwealth of Dominica, Cyprus, France, Iran, 
               Italy, Kuwait, Netherlands, New Caledonia, Poland, Reunion, Russia, Saudi Arabia, Spain,
               Sweden, Turkey, UK
LS1216L: Argentina, Austria, Bhutan, Cyprus, Germany, Netherlands, New Caledonia, Poland, 
                 Saudi Arabia, South Africa, Spain, Sweden, 
                  Switzerland, Turkey, UK
LS1216F: France, Germany, Italy, Netherlands, Reunion, Spain
LS1216FL: France, Spain 

Implementation

1

3
2

4

6
5

LS1016: Argentina, Austria, Bhutan, China, Cyprus, France, Germany, Iran, Italy, Kuwait, Nether-
                lands, New Caledonia, Reunion, Russia, Saudi Arabia, Spain, Sweden, Tahiti, Turkey, UK
LS1016L: Argentina, Austria, Germany, Netherlands, Poland, Russia, South Africa, Spain, Sweden,
                  Switzerland, Turkey, UK
LS1016F:  France, Germany, Italy, Netherlands, Reunion, Spain
LS1016FL: France, Italy, Netherlands, Reunion, Spain

From January
2012 MJ, 
MCA, MKC
and MME
production

From January
2012 MJ, 
MCA, MKC
and MME
production

After the current
parts in MJ, 
MCA, MKC, 
and MME stock
are cleared.

After the current
parts in MJ, MCA,
MKC and MME 
stock are cleared.

LS1016: Australia, Brazil, Canada, Chile, Colombia, Hong Kong, India, Indonesia, Korea, Malaysia,
               Mexico, New Zealand, Panama, Philippines, Singapore, Thailand, USA, Vietnam
LS1016L: Australia, Canada, Hong Kong, Indonesia, Korea, Mexico, New Zealand, Panama, 
                  Singapore, Taiwan, USA

7

7

8
9

8
9

LS1216: Australia, Brazil, Canada, Chile, Colombia, Hong Kong, Indonesia, Korea, Mexico, New 
               Zealand, Panama, Philippines, Singapore, Thailand, USA, Vietnam
LS1216L: Australia, Canada, Indonesia,  Korea, New Zealand, Thailand, USA, Vietnam
LS1216F: Brazil

Current part New part NoteQ'tyItem No. I/CQ'ty

Interchangeability(I/C)

Hex. socket head bolt M10x20
1 1095

265405-3 266755-9
Hex. flange head bolt M10x20

Interchangeability mark;
 The arrow           means that the new part can be substituted for the current.

Hex. socket hex. bolt M8x20
1 1092

265324-3 266283-4
Hex. flange head bolt M8x12

Hex. wrench 6
1 No 1

782232-8 783204-6
Box wrench 13

1251
232075-3
Leaf spring

1250
266034-5
Tapping screw CT 4x16

Wrench holder 5.6
1

410047-0
Guard

1 1
451006-5 453634-2
Guard

Guard
1 1060

060

451198-0 453635-0
Guard

Lower fence L
1 1

1

2

3

4

5

6

7

8

9 143
318475-2 318863-3
Lower fence L


	93048-WW-1
	93048-WW-2

